$$\begin{array}{l} \underbrace{2.5.1}_{\lambda = 0} Laplace equation \quad 0 \leq x \leq L \quad 0 \leq y \leq H \\ \hline (0) \quad \mu(0, y) = g(y) \quad \mu(L, y) = 0 \quad \underbrace{\partial \mu}_{\partial y}(X, 0) \quad \mu(X, H) = 0 \\ \nabla u = 0 \quad \mu(X, y) = h(X) \Phi(y) \implies (f(x)) = 0 \\ \Rightarrow \quad \int_{\lambda} (x) \Phi(y) + \Phi(y) h(X) = 0 \\ \Rightarrow \quad \int_{\lambda} (x) \Phi(y) = \lambda \implies (f(x)) = \lambda h(X) \\ \Phi(y) = -\lambda \Phi(y) \\ \Phi(y) = -\lambda \Phi(y) \\ \Phi(y) = -\lambda \Phi(y) \\ \Rightarrow \quad f(x) = -\lambda \\ (f(y)) = -\lambda \Phi(y) \\ \phi(y) = C_1 e^{y(T_X)} - c_2 e^{y(T_X)} \\ (f(y)) = -\lambda \Phi(y) \\ \phi(y) = C_1 e^{y(T_X)} - c_2 e^{y(T_X)} \\ (f(y)) = -\lambda \Phi(y) \\ \phi(y) = C_1 e^{y(T_X)} - c_2 e^{y(T_X)} \\ (f(y)) = -\lambda \Phi(y) \\ \phi(y) = C_1 e^{y(T_X)} - c_2 e^{y(T_X)} \\ (f(y)) = 0 \\ \phi(y) = C_1 e^{y(T_X)} - c_2 e^{y(T_X)} \\ (f(y)) = 0 \\ \phi(y) = 0$$

1 of 14

$$\Rightarrow \boxed{\lambda_{n} = \left(\frac{(2n-1)\pi}{2H}\right)^{2}}, \qquad \oint_{n} (y) = b_{n} \operatorname{Cs}\left(\frac{(2n-1)\pi}{2H}y\right)}^{2} } \\ \stackrel{\circ}{h(x)} = A_{n} h(x) \qquad \stackrel{\circ}{h(x)} = \left(\frac{(2n-1)\pi}{2H}\right)^{2} h(x) \\ \stackrel{h(L)=\circ}{h(L)=\circ} \\ \Rightarrow h(x) = a_{n} \operatorname{Gsh}\left(\frac{(2n-1)\pi}{2H}(x-L) + a_{2} \sinh \frac{(2n-1)\pi}{2H}(x-L)\right) \\ \stackrel{h(L)=\circ}{h(L)=\circ} \Rightarrow a_{1} \operatorname{Gsh}\left(\frac{(2n-1)\pi}{2H}(y) + a_{2} \sinh \left(\frac{(2n-1)\pi}{2H}(o)\right) = \circ \\ \xrightarrow{\Longrightarrow} a_{1} = \circ \\ \overbrace{h_{n}(x)} = a_{n} \frac{\sin h\left(\frac{(2n-1)\pi}{2H}(x-L)\right)}{2} \\ \boxed{\left(\frac{h_{n}(x)}{2H} + a_{n} \cos\left(\frac{(2n-1)\pi}{2H}(x-L)\right)\right)} \\ \xrightarrow{\left(\frac{h_{n}(x)}{2H} + a_{n} \cos\left(\frac{(2n-1)\pi}{2H}(x-L)\right)}\right)} \\ \xrightarrow{\left(\frac{h_{n}(x)}{2H} + a_{n} \cos\left(\frac{(2n-1)\pi}{2H}(x-L$$

(*)
using the orthogonality of Coines:

$$\frac{A_n = \frac{2}{L \sinh\left(\frac{-n\pi L}{H}\right)} \int_{0}^{H} f(y) \cos\left(\frac{n\pi y}{H}\right) dy}{A_e = \frac{1}{L \sinh\left(\frac{-n\pi L}{H}\right)} \int_{0}^{H} f(y) dy}$$

$$\frac{(L(A,y) = A_e + \sum_{n=1}^{\infty} A_n \cos\left(\frac{n\pi y}{H}\right) \sinh\left(\frac{n\pi (x-L)}{H}\right)}{(x+L)}$$

$$\frac{2.5.8}{\theta r} \bigoplus_{n=0}^{\infty} a crcb$$

$$\frac{\partial u}{\partial r}(a, \theta) = o \quad u(b, \theta) = g(\theta)$$

$$\frac{\partial u}{\partial r}(a, \theta) = o \quad u(b, \theta) = g(\theta)$$

$$\frac{\nabla u = \frac{1}{r} \frac{\partial}{\partial r}\left(r \frac{\partial u}{\partial r}\right) + \frac{1}{r^{2}} \frac{\partial u}{\partial \theta^{2}} = c}{\partial \theta^{2}} \bigoplus_{n=0}^{\infty} (1 - n) < \theta < n$$

$$\frac{\partial u}{\partial \theta}(r, -n) = \frac{\partial u}{\partial a}(r, n) \quad \frac{\partial u}{\partial r}(a, \theta) = o \quad \Rightarrow \quad G(a) = o$$

$$u(r, \theta) = d(\theta) G(r) \qquad d(-n) = d(n)$$

$$(r, \theta) = d(\theta) G(r) \qquad d(-n) = d(n)$$

$$(r, \theta) = d(\theta) G(r) \qquad d(-n) = d(n)$$

$$(r, \theta) = d(\theta) G(r) \qquad d(-n) = d(n)$$

$$(r, \theta) = d(\theta) G(r) \qquad (r, \theta) = \frac{1}{G} \frac{d\Phi}{d\theta^{2}} = \lambda$$

$$\frac{d^{2}\Phi}{d\theta^{2}} = -\lambda \Phi$$

$$\frac{d^{2}\Phi}{d\theta^{2}} = -\lambda \Phi$$

$$\frac{d^{2}\Phi}{d\theta^{2}}(-n) = \frac{d\Phi}{d\theta}(n)$$

$$(r, \theta) = d(n) \qquad (r, \theta) = \frac{d\Phi}{d\theta}(n)$$

$$(r, \theta) = d(n) \qquad (r, \theta) = 0$$

$$\frac{d\Phi}{d\theta}(n) \qquad (r, \theta)$$

$$\Rightarrow nc_{1}a^{n-1} - \frac{nc_{2}}{a^{n+1}} = a \Rightarrow \frac{nc_{1}a^{2n} - nc_{2}}{a^{n+1}} = a$$

$$\Rightarrow n(c_{1}a^{2n} - c_{2}) = a \Rightarrow c_{1}a^{2n} = c_{2}$$

$$(G(r) = C(r^{n} + a^{2n}r^{n}))$$

$$(u(r,e) = \sum_{n=a}^{\infty} A_{n}(r^{n} + a^{2n}r^{n}) G_{n}n\theta + \sum_{n=1}^{\infty} B_{n}(r^{n} + a^{2n}r^{n}) \sin n\theta$$

$$g(\theta) = u(b,\theta) = \sum_{n=a}^{\infty} A_{n}(b^{n} + a^{2n}b^{n}) G_{n}n\theta + \sum_{n=1}^{\infty} B_{n}(b^{n} + a^{2n}b^{n}) \sin n\theta$$

$$\int A_{n} = \frac{1}{2n} \int_{-n}^{n} g(\theta) d\theta$$

$$A_{n} = \frac{1}{n(b^{n} + a^{2n}b^{n})} \int_{-n}^{n} g(\theta) G_{n}n\theta d\theta$$

$$B_{n} = \frac{1}{n(b^{n} + a^{2n}b^{n})} \int_{-n}^{n} g(\theta) \sin n\theta d\theta$$

$$3.2.2(b) \quad f(x) = e^{-x} \quad -L \leq x \leq L$$

$$a_{0} = \frac{1}{2L} \int_{-L}^{L} f(x) dx \qquad a_{n} = \frac{1}{L} \int_{-L}^{L} f(x) Gs \frac{n\pi x}{L} dx$$

$$b_{n} = \frac{1}{L} \int_{-L}^{L} f(x) sin \frac{n\pi x}{L} dx$$

$$b_{n} = \frac{1}{L} \int_{-L}^{L} e^{x} dx = \frac{1}{2L} \left[-e^{-x} + e^{xL} \right] = \frac{sinh h}{L}$$

$$a_{0} = \frac{1}{2L} \int_{-L}^{L} e^{-x} dx = \frac{1}{2L} \left[-e^{-x} + e^{xL} \right] = \frac{sinh h}{L}$$

$$a_{n} = \frac{1}{L} \int_{-L}^{L} e^{-x} dx = \frac{1}{2L} \left[-e^{-L} + e^{xL} \right] = \frac{sinh h}{L}$$

$$a_{n} = \frac{1}{L} \int_{-L}^{L} e^{-x} sin \frac{n\pi x}{L} dx = \frac{4}{2L} \left[-e^{-L} + e^{xL} \right] = \frac{sinh h}{L}$$

$$b_{n} = \frac{1}{L} \int_{-L}^{L} e^{-x} sin \frac{n\pi x}{L} dx = \frac{4}{2L} \left[-e^{-L} + e^{xL} \right] = \frac{sinh h}{L}$$

$$b_{n} = \frac{1}{L} \int_{-L}^{L} e^{-x} sin \frac{n\pi x}{L} dx = \frac{4}{2L} \left[-e^{-L} + e^{xL} \right] = \frac{2i(-1)^{n}}{L^{2} + n^{2}n^{2}} sinh(L)$$

$$\frac{3.2.2}{f(x)} = \begin{cases} 0 & x \le 0 \\ x & x > 0 \end{cases}$$

$$a_{0} = \frac{1}{2L} \int_{-L}^{L} f(x) dx = \frac{1}{2L} \int_{-L}^{0} 0 dx + \frac{1}{2L} \int_{0}^{L} x dx = \frac{1}{2L} \int_{2}^{x} \int_{0}^{L} \frac{1}{4U} = \frac{L^{2}}{4U} = \frac{L}{4}$$

$$a_{n} = \frac{1}{L} \int_{-L}^{L} f(x) \cos(\frac{n\pi x}{L}) dx = \frac{1}{L} \int_{0}^{L} x \cos(\frac{n\pi x}{L}) dx$$

$$= \frac{L(\cos(n\pi) - n\pi \sin(n\pi) - 1)}{n^{2}\pi^{2}} = \frac{L((-1)^{n} - 1)}{n^{2}\pi^{2}} = \begin{cases} 0 & n e^{nx} \\ -\frac{1}{2L} & n e^{nx} \\ -\frac{1}{2L} & -\frac{1}{2L} \end{cases}$$

$$b_{n} = \frac{1}{L} \int_{-L}^{L} f(x) \sin(\frac{n\pi x}{L}) dx = \frac{1}{L} \int_{0}^{L} x \sin(\frac{n\pi x}{L}) dx$$

$$= \frac{-L(-\sin(n\pi) + n\pi \cosh(n\pi))}{n^{2}\pi^{2}} = -\frac{L(n\pi(-1)^{n})}{n^{2}\pi^{2}} = \frac{L(n\pi(-1)^{n})}{n^{2}\pi^{2}}$$

$$3.2.3$$

$$bx \quad \overline{a}_{n}, \overline{a}_{n}, \overline{b}_{n} \quad be \quad Fourier \quad coefficient \quad for \quad f(n).$$

$$bx \quad \overline{a}_{n}, \overline{b}_{n} \quad be \quad Fourier \quad coefficient \quad for \quad f(n).$$

$$bx \quad \overline{a}_{n}, \overline{b}_{n} \quad be \quad Fourier \quad coefficient \quad for \quad g(n).$$

$$bx \quad \overline{a}_{n}, \overline{b}_{n} \quad be \quad Fourier \quad coefficient \quad for \quad g(n).$$

$$bx \quad \overline{a}_{n}, \overline{b}_{n} \quad be \quad Fourier \quad coefficient \quad for \quad g(n).$$

$$bx \quad \overline{a}_{n}, \overline{b}_{n} \quad be \quad Fourier \quad coefficient \quad for \quad g(n).$$

$$bx \quad \overline{a}_{n}, \overline{b}_{n} \quad be \quad Fourier \quad coefficient \quad for \quad g(n).$$

$$bx \quad \overline{a}_{n}, \overline{b}_{n} \quad be \quad Fourier \quad coefficient \quad for \quad g(n).$$

$$coefficient \quad for \quad for \quad for \quad g(n).$$

$$coefficient \quad for \quad for \quad for \quad g(n).$$

$$coefficient \quad for \quad$$

$$\frac{3.3.2(b)}{8n} = \begin{cases} 1 & x < \frac{1}{2} \\ \frac{3}{2} & \frac{1}{2} \\ \frac{1}{2} & \frac{1}{2} \\ \frac{1}{2$$

$$\frac{3}{r} \frac{3.17}{\int_{0}^{t} \frac{dx}{1+x^{2}}}$$
(a) $\int_{0}^{1} \frac{1}{1+x^{2}} dx = \tan^{-1}(x) \Big|_{0}^{1} = \tan^{-1}(1) - \tan^{-1}(0) = \frac{\pi}{4}$
(b) $\int_{0}^{1} \frac{1}{1+x^{2}} = \sum_{h=0}^{\infty} x^{h}(1)^{h} = 1 + x^{2} + x^{q} - x^{6} + \cdots$

$$\int_{0}^{1} \frac{1}{1+x^{2}} dx = \int_{0}^{1} \sum_{h=0}^{\infty} x^{h}(1)^{h} dx = \sum_{h=0}^{\infty} (-1)^{h} \int_{0}^{1} x^{2h} dx$$

$$= \sum_{h=0}^{\infty} (-1)^{h} \frac{x^{2h+1}}{2n+1} \Big|_{0}^{1} = \sum_{h=0}^{\infty} \frac{(-1)^{h}}{2n+1}$$
(c) $\sum_{h=0}^{\infty} (-1)^{h} \frac{1}{2n+1} = \frac{\pi}{4}$

$$= \pi_{2} - 4 \sum_{h=0}^{\infty} (-1)^{h} \frac{1}{2n+1}$$

0

13 of 14

$$\Rightarrow u(x,t) = \sum_{n=0}^{\infty} A_{n} e^{-\left(\frac{n\pi}{L}\right)^{k}t} G_{n}\left(\frac{n\pi x}{L}\right)$$

$$(u(x, o) = f(x) = \sum_{n=0}^{\infty} A_{n} G_{n}\left(\frac{n\pi x}{L}\right)$$

$$\int_{0}^{t} G_{n}\left(\frac{n\pi x}{L}\right) d(x) dx = \int_{0}^{t} A_{n} G_{n}\left(\frac{n\pi x}{L}\right) G_{n}\left(\frac{n\pi x}{L}\right) dx$$

$$\Rightarrow A_{n} = \frac{2}{L} \int_{0}^{L} f(x) G_{n}\left(\frac{n\pi x}{L}\right) dx$$

$$A_{0} = \frac{1}{L} \int_{0}^{L} f(x) dx.$$
(4)